
33Unit 2: Addition and Subtraction

Exercise 4
1.	 Subtract.

20 – 10 = 80 – 50 =

26 – 10 = 84 – 50 =

26 – 9 = 84 – 49 =

26 – 8 = 84 – 48 =

2.	 Subtract.

	 (a)	 75 – 69 =	 (b)	 83 – 9 =

	 (c)	 96 – 48 =	 (d)	 83 – 78 =

3.	 Subtract.

13 – 8 = 12 – 5 =

130 – 80 = 120 – 50 =

135 – 80 = 126 – 50 =

1,300 – 800 = 126 – 49 =

4.	 Subtract.

	 (a)	 640 – 30 =	 (b)	 170 – 90 =

	 (c)	 992 – 600 =	 (d)	 530 – 70 =

5.	 Subtract.

	 (a)	 140 – 99    =	 (b)	 173 – 98 =

	 (c)	 242 – 97 =	 (d)	 260 – 95 =

	 (e)	 343 – 95 =	 (f)	 970 – 97 =

	 (g)	 892 – 98 =	 (h)	 530 – 96 =
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94  Unit 3: Multiplication and Division

Exercise 7
1.	 Ling reads 8 pages of a book a day.
	 After reading the book for 4 days, she still has 5 pages 	

to read.
	 How many pages are there in the book?

2.	 Sue had $47.
	 After paying for 3 steaks, she had $20 left.
	 Find the cost of 1 steak.

?

$47

$20

?

58
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101 Unit 3: Multiplication and Division

Exercise 10
1.	 Multiply.

	

	 Color the spaces that contain the answers above.
	 They will lead you to where the treasure is buried.

	 3	7
×	 	 2
	

	 4	5
×	 	 3
	

	 5	8
×	 	 2
	

	 8	6
×	 	 4
	

	 3	7
×	 	 5
	

	 2	3
×	 	 5
	

	 5	6
×	 	 3
	

	 5	7
×	 	 4
	

	 6	5
×	 	 3
	

	 4	8
×	 	 2
	

	 7	9
×	 	 4
	

	 9	8
×	 	 5
	

74 344 66

490 135 286 96

195 168 78
116

185 228 115 316
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110  Unit 3: Multiplication and Division

Exercise 14
1.	 Find the quotient and remainder.

	 	 Quotient
	

	 Quotient 
	

	 	 Remainder
	

	 Remainder
	

	 	 Quotient
	

	 Quotient
	

	 	 Remainder
	

	 Remainder
	

	 	 Quotient
	

	 Quotient
	

	 	 Remainder
	

	 Remainder
	

	 	 Quotient
	

	 Quotient
	

	 	 Remainder
	

	 Remainder
	

2 )	8	3 4 )	6	5

5 )	6	7 3 )	9	6

2 )	7	5 4 )	7	8

3 )	8	0 5 )	9	5
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194

Review 5
1. 	 Fill in the blanks.

	 (a)	 3 m 10 cm =  cm      (b)	 285 cm =  m  cm

	 (c)	 6 m 4 cm =  cm        (d)	 460 cm =  m  cm

	 (e)	 2 km 5 m =  m     (f)	 2,500 m =  km  m

	 (g)	 7 km 92 m =  m  (h)	 8,635 m =  km  m

	 (i)	 30 in. =  ft  in.          (j)	 3 ft 7 in. =  in.

	 (k)	 29 ft =  yd  ft           (l)	 24 yd 1 ft =  ft

2.	 Write the missing numbers.

	 (a)	 1 m – 92 cm =  cm

	 (b)	 2 m – 1 m 55 cm =  cm

	 (c)	 1 km – 70 m =  m

	 (d)	 2 km – 1 km 690 m =  m

	 (e)	 2 m 45 cm +  cm = 2 m 85 cm 

	 (f )	 4 m 60 cm +  cm = 5 m 4 cm 

	 (g)	 1 ft −  in. =  in.

	 (h)	 3 ft – 2 ft 9 in. =  in.

Review 5
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